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Question T
Express 3080 as a product of prime

Question 2 TQuestion3™ [ Questiona
Express 81 as aproduct of prime | Find the nth term of | Find the 50th term of
factors 14,11,18,25,... 18,10,12,14,...

Workout 5x4-2x5 Workout  40-9x4 Workout 14972 +38 =

|

Guesion 1

Workout 15.6x2.2= Work out | Workout 24+ 2= |
| i3 | |

| |

Question 14 T Guestion 15 1 1

Increase £1340 by 10% Decrease £5480 by 10% | Expand and simplify | Expand and simplify |
15(2x-5)-5(3x-2) | 2x(2x+3) + 2x(3x + 5) |

| | |

Question 18 Question 19 | Question 20 ]

Solve 3(9x+5) = | Work out the value of 5x-9 | Work out the value of 30 +5b |

| whenx=4 | whenb=4 |
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